
 

 

pH610N /ORP650N 

 

�=EFDG>F<O  

?>?L7>64F5?O 

 

�6545=<5 

%?4E<5>, GF> 4>65D<?< Jenco 64L< <7<5D5=<O 

>4G5EF64 6>4O. �>64?G=EF4, <7GG<F5 <=EFDG>F<O< 

?5D54 <E?>?L7>64=<5< F5EF5D>6 

pH610N <?< ORP650N. 

 

1. �>F<6<DG=F5 M?5>FD>4 

F5EF5D4, ?>7DG7<6 57> 6 D� 4 

5GD5D=O= D4EF6>D <?< 

D4EF6>D 4?O ED4=5=<O =4 

0,5-2 G4E4. 

 

2. 'EF4=>6<F5 4 54F4D5< LR44, 

6O=G6, ?D46<?L=> 6EF46<6 

54F4D5=><, 4 74F5< GEF4=>6<6 

>DOL>G =4 <5EF>. 

 

3. �?<E4=<5 4<E??5O: 

1) �4?<5D>6>G=O= 5GD5D (O)        

(2) �=4<>4F>D =<7>>7> 74DO44 

54F4D55> 

(3) �=4<>4F>D D56<<4 >4?<5D>6>< 

(4) �=4<>4F>D Hold (G45D64=<O) 

(5) pH / ��� ?>>474=<O 

(6) �>>474=<O F5<?5D4FGDO (°C) 

(7) �>>474=<O F5<?5D4FGDO (°F) 

 

4. $56<<O D45>FO: 

&5EF5D pH610N <<55F 3 D56<<4, 4  

F5EF5D ORP650N - 2 D56<<4 D45>FO. 

0$56<< <7<5D5=<O1 

1 



 

 

$56<< <7<5D5=<O <E?>?L7G5FEO 4?O <7<5D5=<O 

GD>6=O pH (pH610N), GD>6=O ��� (ORP650N) < 

F5<?5D4FGDO. 

0$56<< >4?<5D>6><1;pH610N F>?L>>. 

$56<< >4?<5D>6>< <E?>?L7G5FEO 4?O 6O?>?=5=<O 1 

<?< 2-F>G5G=>= >4?<5D>6>< GD>6=O pH. 

 

0$56<< Hold1 

$56<< Hold <E?>?L7G5FEO 4?O G45D64=<O =4 

4<E??55 D57G?LF4F4 <7<5D5=<=. �4E>4OEL 6 D56<<5 

Hold, F5EF5D <>6=> 6O=GFL <7 <7<5DO5<>7> 

D4EF6>D4 4?O 5>?55 G4>5=>7> EG<FO64=<O 7=4G5=<O. 

 

5. �?<E4=<5 >=>?>> 

�=>?>

4 

$56<< �5=EF6<5 $G=>F<O 

 

 

 

 

 

CAL 

/ 

HOLD 

 

 

 

 

 

�7<5D5=<5 

�46<<F5 < 

G45D6<64=

F5 2 

E5>G=4O 

�E>4<F 6 D56<< 

>4?<5D>6>< 

(pH610N) 

 

�46<<F5 < 

>F?GEF<F5 

'45D6<645F 

4<E??5= E <?< 

>E6>5>6445F 

4<E??5= >F 

=5446=<E 

7=4G5=<= 

<7<5D5=<= 

 

�4?<5D>6>

4 

�46<<F5 < 

>F?GEF<F5 

Exits Calibration 

Mode 

 

 

 

On 

/ 

Off 

 

 

�>?NG5=<5 

 

�46<<F5 < 

>F?GEF<F5 

�5D5>?NG5=<5 

°C =4 °F < 

=4>5>D>F 

�46<<F5 < 

G45D6<64=

F5 3 

E5>G=4O 

�O>?NG5=<5 

�O>?NG5=<

5 

�46<<F5 < 

>F?GEF<F5 

�>?NG5=<5 

 

 

 

 

6. �>?NG<F5 F5EF5D 

  1. �46<<F5 >=>?>G <On/Off= 4?O 6>?NG5=<O F5EF5D4. 

 

 

0Note1&5EF5D 46F><4F<G5E>< 6O>?NG<FEO G5D57 10 

<<=GF ?>E?5 ?>E?54=57> <E?>?L7>64=<O 

>=>?>>. 

 

7. �4?<5D>6>4 GD>6=O pH (pH610N) 

  pH610N ?> G<>?G4=<N >4?<5D>64= ?> 5GD5D=><G 

=45>DG %,� (4,01, 7,00, 10,01). 'F>5O <7<5=<FL 

=45>D 5GD5D4, ?D< 6>?NG5==>< F5EF5D5, =46<<F5 < 

G45D6<64=F5 >?46<LG «CAL/HOLD», >4=>6D5<5==> 

=46<<4O >?46<LG «On/Off» 4?O 6>?NG5=<O F5EF5D4. 

 0Note1�>6F>D<F5 MFG ?D>F54GDG, GF>5O <7<5=<FL 

=45>D 5GD5D4. 

1. %=<<<F5 >DOL>G M?5>FD>44 E F5EF5D4 < ?D><>=F5 

M?5>FD>4 4<EF<??<D>64==>= 6>4>=. �><5EF<F5 

M?5>FD>4 6 5GD5D D� 6,86 <?< 7,00. 

2. �46<<F5 < G45D6<64=F5 >=>?>G <Cal= 2 E5>G=4O 

4?O 6E>44 6 D56<< >4?<5D>6><. 

3. «Cal» >F>5D4645FEO =4 4<E??55 4?O >5>7=4G5=<O 

F5>GM57> D56<<4, < >F>5D4645FEO 7=4G5=<5 

5GD5D4 pH 6,86 <?< 7,00. 

4. �<745F «HOLD», ?>>47O64O, GF> F5EF5D 

EF45<?<7<DG5FEO. �>744 <7<5D5=<5 

EF45<?<7<DG5FEO, F5EF5D 46F><4F<G5E>< 

E>ED4=O5F 7=4G5=<5 >4?<5D>6>< < 1-O F>G>4 

>4?<5D>6>< 7465DL5=4. 

5. «Udr» >F>5D4645FEO, ?>>4 F5EF5D >6<445F 

E?54GNM5= F>G>< >4?<5D>6><, >>F>D4O ?> 

G<>?G4=<N <E?>?L7G5F 5GD5D pH 9,18 / 10,01 <?< 

5GD5D pH 4,00 / 4,01. 

6. �46<<F5 >=>?>G «CAL/HOLD» 4?O 6OE>44 <7 



 

 

>4?<5D>6>< < E>ED4=5=<O 1-= F>G><, <?< ?D><>=F5 

M?5>FD>4 4<EF<??<D>64==>= 6>4>= < ?><5EF<F5 

57> 6 5GD5D pH 4.00 / 4.01 pH <?< 9.18 / 10.01, 

GF>5O ?D>4>?6<FL >4?<5D>6>G 2-= F>G><. 

7. �<745F «HOLD», ?>>47O64O, GF> F5EF5D 

EF45<?<7<DG5FEO. �>744 <7<5D5=<5 

EF45<?<7<DG5FEO, F5EF5D 46F><4F<G5E>< 

E>ED4=O5F 7=4G5=<5 >4?<5D>6>< < 2-O F>G>4 

>4?<5D>6>< 7465DL5=4. 

8. «Cal» < «HOLD» 5>?LL5 =5 >F>5D464NFEO, 

>7=4G4O, GF> >4?<5D>6>4 2-= F>G>< 7465DL5=4, 4 

65DE=OO G4EFL 4<E??5O >F>5D4645F 464 

>4?<5D>64==OE 7=4G5=<O 5GD5D4. 

  0Note1pH 610N =5>5E>4<<> >4?<5D>64FL ?5D54 

?5D6O< <E?>?L7>64=<5<. ORP650N =5 FD55G5F 

>4?<5D>6><. 

 

8. �7<5D5=<5 

1. �>7DG7<F5 M?5>FD>4 F5EF5D4 6 

D4EF6>D 4?O <7<5D5=<O. 

 

9. Hold D56<< 

1. �>744 ?>>474=<O pH/��� EF45<?<7<DGNFEO, 

=46<<F5 >=>?>G «Hold», GF>5O G45D64FL 

D57G?LF4F <7<5D5=<O =4 4<E??55. 

2. �46<<F5 >=>?>G «Hold» 5M5 D47, GF>5O 

D475?>><D>64FL 4<E??5=. &5EF5D 65D=5FEO 6 

D56<< <7<5D5=<O. &5?5DL F5EF5D 7>F>6 > 4DG7><G 

<7<5D5=<N. 

 

 

 

�F>5D465=<5 >L<5>> < GEFD4=5=<5 =5?>?44>> 

LCD 

4<E??5

= 

&5<?5D4FGD=

O= 4<E??5= 

�F>5D465=<

5 D56<<4 

�>7<>6=O

5 ?D<G<=O 

[45=EF6<O] 

 

<ovr= 

 

<ovr= 

 

Measure 

(<7<5D5=<5) 

&5<?5D4FGD4> 

50°C (122°F) 

 

[�>654<F5 

D4EF6>D 4> 

5>?55 =<7>>= 

F5<?5D4FGDO] 

 

<udr= 

 

<udr= 

 

Measure 

(<7<5D5=<5) 

&5<?5D4FGD4< 

0°C (32.0°F) 

 

[�>654<F5 

D4EF6>D 4> 

5>?55 6OE>>>= 

F5<?5D4FGDO] 

 

 

 

 

<udr= 

<?< 

<ovr= 

 

 

 

 

0.0~50.0°C 

32 .0~122°F 

 

 

 

 

Measure 

(<7<5D5=<5) 

�7<5D5=<5 

?D>6>4<<>EF< 

<?< TDS 6=5 

4<4?47>=4. 

 

[pH610N: 

>4?<5D>64FL 

4DG7<< 

>4?<5D>6>G=O< 

D4EF6>D>< < 

E=>64 ?D>65EF< 

<7<5D5=<O ] 

 

[ORP650N: 

�7<5DLF5 

>4?<5D>6>G=O= 

D4EF6>D ���. 

�E?< ?>>474=<O 

6OE>4OF 74 

?D545?O 

4<4?47>=4, 

>5D4F<F5EL > 

?>EF46M<>G] 

 

 

<ovr= 

 

 

0.0~50.0 °C 

32 .0~122 °F 

 

 

pH CAL 

a. pH-Offset 

b. pH-Slope 

a. �>>474=<5 

>4?<5D>6>< 

E<5M5=<O 

4?O (7,00 pH / 

6,86 pH) 

5>?LL5 (100 

mV / 108,3 

mV) 

b. �>6>5 

>F>?>=5=<5 > 

<454?L=>5 

>F>?>=5=<5 =4 

30% 

[�4?<5D>6>4 E 

=>6O< =45>D>< 

5GD5D=>7> 

D4EF6>D4 <?< 



 

 

 

74<5=4 F5EF5D4] 

 

 

<udr= 

 

 

0.0~50.0 °C 

32 .0~122 °F 

 

 

pH CAL 

a. pH-Offset 

b. pH-Slope 

a. %<5M5=<5 

>4?<5D>6>< 

4?O (7,00 pH / 

6,86 pH) =<65 

(-100 mV / -

91,7 mV) 

(7,00 pH / 

6,86 pH) 

=<65, G5< (-

100 mV / -

91,7 mV) 

b. New slope < 

idealÿslope 

by 30 % 

 

[�4?<5D>6>4 E 

=>6O< =45>D>< 

5GD5D=>7> 

D4EF6>D4 <?< 

74<5=4 F5EF5D4] 

 

%��&�$���&�/ 

 pH610N ORP650N 

�4D4<5FDO pH/Temp ORP/Temp 

�<4?47>= 0.00 ~ 14.00 pH ±1000 mV 

,47 <7<5D5=<O 0.01 pH 1 mV 

&>G=>EFL ±0.05 pH ±3 mV 

�<4?47>= 

F5<?5D4FGDO 

0.0~50.0°C (32.0~122.0°F) 

,47 <7<5D5=<O 

F5<?5D4FGDO 

0.1 °C ( f 99.9 °F, 0.2 °F ; > 99.9 °F, 1 °F ) 

&>G=>EFL <7<5D5=<O 

F5<?5D4FGDO 

±0.5 °C / ±1 °F 

�E>4=>5 

E>?D>F<6?5=<5 

3X1011 «  

�EF>G=<> ?<F4=<O LR44 x 4 

%D>> E?G65O 

54F4D55> 

>150 G64E>6 

�<4?47>= 

F5<?5D4FGDO 

>>DG64NM5= ED54O 

0.0~50.0 °C (32.0~122.0 °F) 

�>4>=5?D>=<F45<O= IP67 

$47<5DO 163 x 43 x 20 (<<) 

�5E 65 7D4<< 

 

pH >4?<5D>6>G=O5 D4EF6>DO 

pH 7.00, 4.01, 10.01 <?< pH 6.86, 4.00, 9.18 

�<4?47>= D4E?>7=464=<O E<5M5=<O pH-

M?5>FD>44 

pH 7.00 ±100 mV 

pH 6.86 -91.7 mV 4> 108.3 mV 

 

�4D4=F<O 

%D>> 74D4=F<< E>EF46?O5F 1 7>4 (12 <5EOF56) E 44FO ?>>G?><. 

��������: �4D4=F<O =5 D4E?D>EFD4=O5FEO =4 E<5==O5 M?5<5=FO 

(=4?D., M?5<5=FO ?<F4=<O (54F4D5=>< ���), M?5>FD>4O pH < ��� 

<5FD>6.  

� E?GG45 6OO6?5=<O =54>EF4F>>6 F>64D4 ?D< M>E??G4F4F<< 6 

F5G5=<5 74D4=F<==>7> ED>>4, <O D5>><5=4G5< 6=<<4F5?L=> 

>7=4>><<FLEO E <=EFDG>F<5= ?> M>E??G4F4F<< F>64D4, GF>5O 

>?D545?<FL, 6E5 ?< FD55>64=<O ?> M>E??G4F4F<< F5E=<>< E> 

EF>D>=O ?>?L7>64F5?O 6O?>?=5=O ?D46<?L=> < >>DD5>F=>. 

�> 6>?D>E4< >EGM5EF6?5=<O 74D4=F<==>7> >5E?G6<64=<O F5E=<>< 

�O <>65F5 >5D4F<FLEO 6 =4L E5D6<E=O= F5=FD, 44D5E >>F>D>7> 

G>474= =4 74D4=F<==>< F4?>=5. 

%5D6<E=O= F5=FD ?D>6>4<F M>E?5DF<7G 6OO6?5==OE =54>EF4F>>6, 

>?D545?O5F E4D4>F5D 45D5>F4 - 746>4E>>= 5D4> <?< D57G?LF4F 

=5?D46<?L=>= M>E??G4F4F<<. 

�>E?5 ?D>6545=<O M>E?5DF<7O F>64D E 746>4E><< 5D4>>< ?>4?56<F 

74D4=F<==><G D5<>=FG. 

�E?< D5<>=F =56>7<>65= ?D><76>4<F >5<5= F>64D4 E 746>4E><< 

45D5>F>< =4 F>64D =44?564M57> >4G5EF64. 


